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Semanticc o a SMp.
t. Upon emtering a state s, the aext state s/ s
Selected  with  probability P(s,s") .
2. The sojourn time ia Statc S is determined by
Q(s, s'). (kichen imer)

Q: s this q gooo\ model for the thkple redundaut
eKaW\P\z?

A MO, the S\stcm ‘FOrgots thar the technician has
a‘re,o(d7 done some work to re,fo‘ace the At
computtsr when the second oOne Talls.

(No p\ro\olm i CMC & V\AGVV\OV\/\QSShczSS)



V. 2 Generalised  Sem ~Markov Pro cesses

Events: 1. Each event has its own cdf.

1. If an event becomes active (ie. it 1S bound 1
happen), pick a time accOrding to its <df]
and  setr its  kitchen timer

3. £ sow\et‘ning b\appeus nd the event remains
oc,vive\, o rot Cb\ange its  kitchen timenr.

Y. ¥ a timer goes oﬂ:/ take tL\e. corresFoo\dc'bg
transtion .



next( 1, fail,)= (6,1, )

Uusw.

Flail)= £ (fail,)= EXP(A)

-At
t—> 1-¢€ A

Flrep) = DET(1h)
F(rcpl)

S= {(1,1,1>/ (o,m)/ (l,o,&... % So = (1,1,1)
E;{V’qu) repy, reps, ‘Fail-,, ‘Fa?(l) fail 5 5

Qctive (l,l.l\: {fa{h) 'Fa”z, ‘Faﬂsg
aCxive (l,o,c\= $ fail 1 ‘thls/ mp,_% Usw.



GSHp: (S,E,acﬁve,hex’r, F,S,)

S stares

E events

acie: S— L assigns a sec of active events 1o eadl
State .

hext: SXE — S stfgms o hext st ([F am enveut happws)
P E— (R o) assigns @ cdf to eadh event

5 mittal statc



Nondeterminism  in GSMPs ?
Lt\nae is Qchotce, but we cannot assign probabilities.

C)DE'(1 DET(1)O At time 1, we hawe a
nondeterminstic  cheice berween
going |eft and goivg right

Nondet.  cnnet  be simulgied!

Solution:  forbid  now- contimuous cdfs.
(a little too restetive: the example of the
triple  redundant syskom ocloes ot contain hawdet . )

15 | Wondeterministhic

with [Dho(oa(omty o.



